IAL workflow:
1) Losing CR submits 814_IG1 with losing ESIID 
a) ERCOT validates Losing CR was the last REP of Record

b) ERCOT validates current CR and forwards transaction (as IG2)
2) Gaining CR receives IG2 and performs analysis as normal 
3) If Gaining CR agrees, respond with 814_IG3_Agree and ERCOT forwards to Losing CR for Regain Date (as IG4)
a) Losing CR receives IG4, enters regain date (DOL+1 or Forward date) into Regain Date field (turns into IG5 to TDSP)
b) TDSP receives IG5 and prepares system “ready to receive”

c) Once ready to receive, respond with IG6 to Losing CR

d) Losing CR then submits 814_16 for Regain Date sent in IG4, ending workflow
2) If Gaining CR disagrees, respond with 814_IG_Disagree and ends the workflow

Rescission:

1) Gaining CR submits 814_RS1 with gained ESIID

a. ERCOT validates current ROR and the Losing CR

b. ERCOT validates date is within guidelines of Rule/RMG
2) ERCOT forwards to Losing CR to submit Regain Date 

3) Losing CR enters Regain Date and turns into 814_RS2 to TDSP
4) TDSP receives RS2 and prepares system “ready to receive”

5) Once ready to receive, respond with RS3 to Losing CR

6) Losing CR submits 814_16 for Regain Date sent in RS3, ending workflow

